DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

101 —46.04 + (—4) =
) —791.8 =+ (—10) =
09 —2007.9 + (—9) =
0 —377.6 + (—8) =
395 62.18 + (—=2) =
09 196.86 + 6 =

307 —3223 + 10 =

99 —5798 = (—10) =
399) —9.42 =3 =

w00 —113.13+9 =

0 —26928 = 6 =

02) 382.6 + (=5H) =
103 —168 =5 =

0 —246.4 + (—4) =

105 —6946.4 + 8 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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15

19369 + (—7) =

—802.2 + 10 =

1658.7 = (—9)

15000 = 8 =
—32688 + (—9)
1558.2 = 7 =
—109.48 + (—4)
—4686 =+ (—3)
219.12 = (—8)

—7898 + 2 =

467.45 + 5 =

115.84 +4 =

—558.72 + (—6)

5971 = (=7) =

—5244 = (—1)
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